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Series :   HF1EG SET – 4 

 . 
Roll No. 

-  
Q.P. Code 90

 -   -  
-      
Candidates must write the Q.P. Code on 
the title page of the answer-book. 


SECURITY

  : 2    : 50 
Time allowed : 2 hours Maximum Marks : 50 

●       -    15  
●       -  21   
● -        -    -  -   
●         , -           
●  -     15        -     10.15 

   10.15   10.30     -        
-      

● Please check that this question paper contains 15 printed pages.
● Please check that this question paper contains 21 questions.
● Q.P. Code given on the right hand side of the question paper should be written

on the title page of the answer-book by the candidate.
● Please write down the serial number of the question in the answer-book

at the given place before attempting it.
● 15 minute time has been allotted to read this question paper. The question

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
candidates will read the question paper only and will not write any answer on
the answer-book during this period.  ~
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  : 

 (1)        
 (2)  -  21          -       
 (3)                
 (4)   (5 + 16 =) 21   ,     ()  2         

(5 + 10 =) 15       
 (5)              
 (6)   –   (24 ) :  
  (i)    05     
  (ii)           
  (iii)       
  (iv)       
  (v)    /       
 (7)   –   (26 ) :  
  (i)    16     
  (ii)    10      
  (iii)       
  (iv)       
  (v)    /        
 

 –  
( ) 

 
1.       6     4      4  1 = 4 

 (i)           ? 

  (A)  (B)  

  (C)  (D)  
 

 (ii)           ? 

  (A)  (B)  
  (C)  (D)  
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General Instructions : 
 (1) Please read the instructions carefully. 
 (2) This Question Paper consists of 21 questions in two sections : Section-A 

& Section-B. 
 (3) Section-A has Objective type questions, whereas Section-B contains 

Subjective type questions. 
 (4) Out of the given (5 + 16 =) 21 questions, a candidate has to answer  

(5 + 10 =) 15 questions in the allotted (maximum) time of 2 hours. 
 (5) All questions of a particular section must be attempted in the correct 

order. 
 (6) Section-A : Objective Type Questions (24 Marks) : 
  (i) This section has 05 questions. 
  (ii) It is mandatory for every student to complete all the questions as 

per instructions. 
  (iii) There is no negative marking. 
  (iv) Do as per the instructions given. 
  (v) Marks allotted are mentioned against each question/part. 
 (7) Section-B : Subjective Type Questions (26 Marks) : 
  (i) This section has 16 questions. 
  (ii) A candidate has to do 10 questions. 
  (iii) There is no negative marking. 
  (iv) Do as per the instructions given. 
  (v) Marks allotted are mentioned against each question/part. 

 

    SECTION – A  

    (Objective Type Questions) 
 

1.  Answer any 4 out of the given 6 questions on Employability Skills. 4  1 = 4 

 (i) Which of the following is NOT part of a sentence ?    

  (A) Subject (B) Active 

  (C) Verb (D) Object 

 (ii) Which of the following is a type of motivation ?   

  (A) Anger (B) Jealousy 

  (C) Reward (D) Laziness 
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 (iii)      -       ? 

  (A) - (B) - 
  (C) - (D) - 
 

 (iv)           (device)      ? 

  (A)  (B)  
  (C)  (D)  
 

 (v)            ? 

  (A)  (B)  

  (C)  (D)  
 

 (vi)                   
 ? 

  (A) 2040 (B) 2035 
  (C) 2030 (D) 2045 
 
2.   6     5        5  1 = 5 

 (i) ‘  ’                ? 

  (A) 35  (B) 40  
  (C) 45  (D) 50  
 

 (ii)    1,00,000          ? 

  (A) 222 (B) 275 
  (C) 175 (D) 225 
 

 (iii)         _____  
  (A)       (B)      
  (C)     (D)        
 

 (iv)         ? 

  (A)  (B)  
  (C)  (D)  
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 (iii) Which of the following is the other term used for self-management ?  

  (A) Self-awareness (B) Self-consciousness 

  (C) Self-motivation (D) Self-control 

 (iv) Roll Over or Hover action can be performed by which of the following 
device ?  

  (A) Mouse (B) Printer 

  (C) Scanner (D) Camera 

 (v) Which of the following is NOT a quality of an entrepreneur ?   

  (A) Confident (B) Creative 

  (C) Patient (D) Impulsive  

 (vi) By which year all countries should achieve the Sustainable Development 
Goals’ target set by the United Nations Organisation ?   

  (A) 2040 (B) 2035 

  (C) 2030 (D) 2045 
 

2. Answer any 5 out of the given 6 questions. 5  1 = 5 

 (i) On the command ‘Dress Right Dress’ (Saj Dahine Saj) the members in 
the unit turn their head to right at what angle ?   

  (A) 35 degree (B) 40 degree 

  (C) 45 degree (D) 50 degree 

 (ii) What is the recommended police strength for 1,00,000 population by the 
United Nations ?   

  (A) 222 (B) 275 

  (C) 175 (D) 225 

 (iii) Person who discovers fire should _____.  

  (A) Activate fire alarm (B) Continue working 

  (C) Run away (D) Ignore the fire 

 (iv) Where is the Headquarters of National Security Guard located ?  

  (A) Jaipur (B) Alwar 

  (C) Meerut (D) Manesar 
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 (v)                 
  ? 

  (A)  +  (B)  +  
  (C)  +  (D)  +  
 

 (vi)            ? 

  (A)           
  (B)             ,   

       
  (C) -             
  (D)   ‘ ’            
 
3.   6     5        5  1 = 5 

 (i)           ? 

  (A)  (B)  
  (C)  (D)  
 

 (ii)                  
   ? 

  (A) CPU (B) ROM 
  (C) RAM (D) NIC 
 

 (iii)         ? 

  (A)    (B)    
  (C)    (D)    
 

 (iv)                ? 

  (A)  (B)     

  (C)  (D)  
 

 (v) PSAR Act 2005                
          ? 

  (A)  21 (B)  20 

  (C)  22 (D)  23 
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 (v) Which of the following combination of keys are used for selecting a text ?  

  (A) Ctrl+A (B) Ctrl+V 

  (C) Ctrl+C (D) Ctrl+X 

 (vi) What is figure of eight knot used for ?  

  (A) To tie together two working ends of the rope. 

  (B) It is a temporary knot used to drag, tow or lift a log or pole. 

  (C) To tie together two ropes of different types or unequal 
thickness.  

  (D) This is a ‘stopper knot’ that is unlikely to join or pull loose.  
 

3. Answer any 5 out of the given 6 questions. 5  1 = 5 

 (i) Where is the Headquarters of Indian Army’s Northern Command  
located ?  

  (A) Chandimandir (B) Kolkata 

  (C) Udhampur (D) Pune 

 (ii) Which of the following device interprets and runs the commands that 
you give to a computer ?   

  (A) CPU (B) ROM 

  (C) RAM (D) NIC 

 (iii) What is the full form of the acronym BCC ?  

  (A) Blank Carbon Copy (B) Backup Carbon Copy 

  (C) Blank Control Copy (D) Blind Carbon Copy 

 (iv) Which of the following is NOT a common point for checking pulse ?  

  (A) The ankle (B) Backside of knee 

  (C) The wrist (D) Neck 

 (v) Which section of the PSAR Act 2005 lays down that use of a uniform 
similar to the uniform of the armed forces or police by the security 
companies is punishable ?  

  (A) Section 21 (B) Section 20 

  (C) Section 22 (D) Section 23 
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 (vi)             ? 

  (A)  (B)  

  (C)   (D)  

 

4.   6     5        5  1 = 5 

 (i)           ()  ? 

  (A)  (B)  

  (C)  (D)  
 

 (ii)               ? 

  (A)  (B)  

  (C)  (D)  
 

 (iii)       ‘’        ? 

  (A)    (B)     

  (C)    (D)   
 

 (iv)   -           ,  -
  ? 

  (A)  (B)  

  (C)  (D)  
 

 (v)    _____    ,             

  (A) 320 (B) 330 

  (C) 350 (D) 340 
 

 (vi)          ? 

  (A) 160  (B) 161  

  (C) 162  (D) 163  
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 (vi) Where is the Headquarters of Central Air Command of Indian Air Force 
located ?    

  (A) Gandhinagar (B) Shillong 

  (C) New Delhi (D) Prayagraj 

 
4. Answer any 5 out of the given 6 questions.  5  1 = 5 

 (i) Which of the following is the first part of a drill command ?  

  (A) Cautionary  (B) Executive 

  (C) Identifier  (D) Precautionary  

 (ii) Which of the following is NOT a necessary element for a fire to ignite ?   

  (A) Nitrogen  (B) Heat 

  (C) Oxygen (D) Fuel 

 (iii) Which of the following force is also known as ‘Himveer’ ?  

  (A) BSF (B) ITBP 

  (C) SSB (D) Assam Rifles 

 (iv) Which of the following prefix would you add to subject line of an email 
which is time critical ?   

  (A) HOT (B) REQUEST 

  (C) FAST (D) URGENT 

 (v) An infant may have _____ bones, some of which fuse during the 
development of the body.   

  (A) 320 (B) 330 

  (C) 350 (D) 340 

 (vi) What is the height eligibility for a male security guard ?   

  (A) 160 cms (B) 161 cms 

  (C) 162 cms (D) 163 cms 
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5.   6     5        5  1 = 5 

 (i)      _____      

  (A)  (B)  

  (C)  (D)   
 

 (ii)          ? 

  (A)  (Mitigation) (B)  (Recovery) 

  (C)  (Response) (D)  (Preparedness) 
 

 (iii)                     
 ? 

  (A)  (B) $ 

  (C) # (D) @ 
 

 (iv)          ? 

  (A)  (B)  

  (C)  (D)  
 

 (v) ESIC       ,        ? 

  (A)    90 (B)    75 

  (C)    60 (D)    45 
 

 (vi)               
  ? 

  (A) 25    1-2   

  (B) 15    2   

  (C) 15    4   

  (D)      
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5. Answer any 5 out of the given 6 questions. 5  1 = 5 

 (i) A restored file or folder would return to its _____.  

  (A) Downloads (B) Desktop 

  (C) Documents (D) Original location 

 (ii) Which is the first phase in the disaster management cycle ?  

  (A) Mitigation (B) Recovery 

  (C) Response (D) Preparedness 

 (iii) Which symbol is used to separate user name and domain name ?  

  (A)  (B) $ 

  (C) # (D) @ 

 (iv) Where was Krav Maga self-defence system developed ?  

  (A) Japan (B) Israel 

  (C) Korea (D) China 

 (v) In case of death of the insured person under the ESIC, what are his/her 
dependents entitled to ?    

  (A) 90% of wages per month (B) 75% of wages per month 

  (C) 60% of wages per month (D) 45% of wages per month 

 (vi) What is the normal ratio between cardiac compression and artificial 
respiration during cardio-pulmonary resuscitation ?    

  (A) 25 cardiac compressions and 1-2 respiration 

  (B) 15 cardiac compressions and 2 respiration 

  (C) 15 cardiac compressions and 4 respiration 

  (D) No fixed ratio 
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- 

( ) 
 

      5     3                         
20-30       3  2 = 6 

 

6.     ?        

 

7.            ?          

 

8.                  
   ?     

 

9.         ?    

 

10.                   ?   
       

 

   6     4          20-30     

     4  2 = 8 

11.           ?           
     ?    

 

12.       :    

 (a)  (b) - 
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SECTION – B 

(Subjective Type Questions) 
 

  Answer any 3 out of the given 5 questions on Employability Skills. 

Answer each question in 20-30 words.   3  2 = 6 

6. What is inter-personal communication ? Explain with example.  

 

7. What can stress management help us to achieve ? Mention any two 

advantages.  

 

8. You are a personal assistant to CEO of an organization. How will you 

carry out weekly maintenance of the computers in your office ?   

 

9. How do entrepreneurs help in creating jobs ?   

  

10. As a responsible consumer how can we help in protecting our     

environment ? Give any two examples.   

 

 Answer any 4 out of the given 6 questions in 20-30 words each. 4  2 = 8 

11. Which class of fire is caused by burning of metals ? Which extinguishing 

agents should not be used for fighting such fires ?    

 

12. Define the following self-defence terms : 

 (a) Attacker (b) Non-contact   
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13.    Arithmetic and Logic unit      ?   

 

14.        ?        

 

15.               

 

16. -              

 

   5     3          50-80     

     3  4 = 12 

17.                ?   

 

18.       -       -         
         

 

19.               ?   
         

 

20.           ?    

 

21.                      

____________ 
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13. What is the function of an Arithmetic and Logic unit in a computer ?   

 

14. What are the signs and symptoms of a stroke ? Mention any two.   

 

15. Mention any two relevant points related to Biometric identification.  

 

16. Explain the process of adding signature to an e-mail in a step-wise manner.   

 

 Answer any 3 out of the given 5 questions in 50-80 words each. 3  4 = 12 

 

17. You are a housekeeping supervisor in a hotel. What will be your duties 

during fire emergency ?  

 

18. You are receiving many spam e-mails in your folder. Describe step-wise 

process of flagging such e-mails as spam.    

 

19. You are a security supervisor of a Mall. What will be your role and 

responsibilities ? Mention any four of them.   

 

20. Enumerate the categories in which the Indian Navy is divided.    

 

21. Describe the step-wise process of making a four-hand seat to carry a 

victim.    

____________ 
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